HEBIEAERETHRBELGES

E_SEHN (BFE-+=%FENEMRR)
NIRFBE BEEHHARK
(B) sf2&E4H1H (E) S#3E3H31H
(BEAT : )
BERE SEAAED (1) ait PERE I BEENEE
AERE 0 0
BRI 0 0
EREEERSING 0 0
SHEBIN 28, 850, 000 28, 850, 000 28, 850, 000
ESEINES 5,945, 000 5, 945, 000 5, 945, 000
BRI 0 0
g PEERRE LI 0 0
EARNEIN T =T 0 0
ol [y -z 0 0
2| |vanEmmsmas 0 0
| |eomomims 0 0
B |zomoms 0 0
B [yoezammasst (1) 34,795, 000 34, 795, 000 0 34, 795, 000
”z A 24, 244, 142 24, 248,182 24, 248,142
e 5, 450, 891 5, 450, 891 5, 450, 891
£ 895, 954 895, 954 895, 954
| tERERS S PRl 0 0
A | B 0 0
BESER 20,000 20, 000 20, 000
ST 117, 941 117,941 117, 941
Y_CXEBEMET (2) 30,728,928 30,728, 928 0 30, 728, 928
HCREBEAEE (3) = (1) — (2) 4,066,072 4,066, 072 0 4,066, 072
v [SEweRLE N 0 0
2| B |zpmov—ezzmotines 4,888 4,888 4,888
|7 ez EmsRaT (4) 4,888 4,888 0 4,888
fﬁ £ | 200 —C A EES B 0 0
1| P [U—CRmmotEmEr (5) 0 0 0 0
|- EBNERETE (6) = (4) - (5) 4,888 4,888 0 4,888
ERBREE (7) = (3) + (6) 4,070, 960 4,070, 960 0 4,070, 960
FEXHMEADNE 0 0
" 'fé HRRSIHAA SN 0 0
g|  |FRUREE (8) 0 0 0 0
| |EEEESIE-LHR 0 0
| g5 | BEESEAREM 1,393, 200 1,393, 200 1,393, 200
f A B e A S EA 0 0
" [EmEmE (9) 1,393, 200 1,393, 200 0 1,393, 200
ERIEHETE (10) = (8) — (9) 1,393, 200 1,393, 200 0 1,393, 200
MEREEMEEELE (11) = (7) + (10) 2,671,760 2,671,760 0 2,671,760
| SRR E ISR (1 2) 1,630, 668 1,630, 668 1,630, 668
S (SRR DEAER (13) = (11) + (12) 7,308, 428 7,308, 428 0 7,308, 428
o [EASHEHE (14) 0 0
:: EEEEE (15) 0 0
= [ZOMOBTEmERE (16) 0 0
Bz Do SmETE (17) 0 0
ap | REBEBIEREE (18) = (13) + (14) + (15) + (16) — (1 4,308, 428 7,308, 428 0 4,308, 428




